20182019 L1 ) [ Annual Examination

Multiple Choice Questions (MCQ's)
Q1. Choose e vorrect snswer for wach from the glven optlons:
(1) I the: coefficient of linear expansicn of & soid Is 0.0009, ils co-elllent of volune
axpansing ia:

(8)0.00003 {0) 0.00009 (£)0.00010  (d)0.0027
(I} Avasolute 20ro on Fahranhel sealn is aqual fo:
(a) B230F (b) -2730F (0) 4800F  (d)} 4016F
(i} The resistance of a wire is R ohm. If tha wire is strefched to double its length, s
jresistance becomes:
{a)2R (b)R/2 () R/a (d)4R

(lv)  Diraction of stectric fiold intensity is always __ to the electric fiald lines at every

(1) Parallal (b) Tangent (o) Perpendicular (d) None of these
(v)  Twocapacitors of capacitance 2C and C respactivaly are connectad in series, thelr
ulvalent capacitance becomas;
(a)2C (b)Gr2 {c)2C1 (d)3C/2
Reslotance of o substance can be expected 1o increase for all of the following
tlon except:
(@) Increasa In cross-sectional area  (b) Incraase in kenath
(c) InBraase In lomperture (d) Increase in resistively of the material
Electron volt b o unitof;
(n} Work {b) Fraguency (c) Potential difference(d) Energy
) lsobaricchanges in & gas show htat hire ls notchange In:
() Internatenergy  (b}Pressure  (c)Volume  (d) Tempsrature
i} Two parailal wires carrying currant in same dirmotions:
{a) Repel each other (b)Attrnct each ather
(¢) Neither attract nor repel (d) Cancel each other's figld
(x)  Apositran ls anti panticle of:
(a) Photon (b)Elactron  (c)Proton  (d)Neutron
()  Whaen tha tamperature of source and sink ofa haat ml@ooomn equal, the |
ontropy of the systom bocomes:

() Zovo (b)Same  (c)Minimum () Mawinwin /
() Whan tha forward hlag s appliad to a p-o junation the concantratio & 500 P
b A

(a) Increase slightly (b) Increases dramaticily /O
| {c)Decronse siightly (d) Deconses dramaticlly %
{xill)  Anapparatus used to compare the amf of two calls is; ‘Q

{8)Volt mater (b)Ava metar (c)Galvanomoter (04

(d) Potentiometsr (/
xiv)  1atomic mass unlt {a.m.u)interms of energy is nearly equal to: ‘,O

(8)931 MeV (b) 831KeV (c)139MeV  (d)193KeV '{‘
xv)  Whichone of the following is NOT needed in a snuciear fission reaction?

(a) Moderator {b)Fuel (c)Coolant  (d)Accelerator
(xvi)  Bulkofthe mass af an atom is concantrated in its:

(a)Electronshalls  (b)Nucleus (c)Protons  (d) Neutrons
(xvil)  Which of the following is one of the functions performed by a diode?

(a)Amplifier (b) Filtor (¢} Rectifor  (d) Inverter
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Calculate momodc!mmm'v. lm ponuno ooov-m i
. Dofine co-officient of linear and volume expanslon, Show thn( co-offivont of inoar
xapanslon of the materal of & substance |8 one third of the co-efficient of volume

Desorbo mutual induction with the help of the dingram and danhne hnry.
Wiile any Five sppiications of LASER,

What will be the enorgy of an X-ray photon of wave length 2,0 10-38m.

8 Why the rest mass of a photon ks zero? Explain,

O4:  Ifan electron and a proton have the same De-Broglle wave length, which particla
has graater spaad?

Q.10: Find the speed at which the mass of a proton is twice of its rest mass?

Q.11; Both potential difference and electronmotive force are measurad in volt. Are they
me? Explaln,
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Q.14(a). Why & gas has two specific heats? show that molar spectic heat of a gast at
constant preesure |s equal to sum of Its speacific heat ai constant volume and molar gas
constant,
) Easplain pholoslectic effect on quantum theary and shaw that no photoslactron car

b ejected o bl suface, i requency of the ncident ight Is less than Its arftical value.
Q.156{a) Delv an expiession (o e luive sxperianod by o current canying conductor
placed In s unifarm magnetic fiekd.
(B)  What are tha basic postulatas of Bohr's atomic theory? Derive s expression (o
ansrgy of the slectron in n th orbit ofa hydrogan atom?
Cr16(a): Write notes on any TWO of the following:

(1) Parallol Plata Capactios

{ii) Potontimootor

(Jil) Radioactivity and Half life

(iv) Power dissipation through a resistor




